Dr Numsen — Number Sense — 2024 — Grades 2-3

Test 1

Answers

For each estimation problem, the exact value (rounded to two decimal places) appears in square brackets.

1 13
(2) 6

3) 11
4) 40
(5) 23
(6) 74
(7) 16
(8) 45
9) 100

*(10) 1862 — 2056
[1959]

11 26
(12) 23
13) 6

(14) 16
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(16) 33
17) 24
(18) 500
19) 48

*(20) 1462 - 1614
[1538]
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(23) 2
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29) 7

*(30) 57342 - 63378
[60360]

(31) 124

(32) 9364
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(38) 8

39) 6

*(40) 464 — 512
[487.76]
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(43) 33
(44) 5252
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(46) 495
47) 10
48) 5
(49) 84

*(50) 2088 — 2306
[2197]
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(59) 15
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362072 — 400184
[381128]
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610 - 674
[642.05]
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716 — 791
[753.6]



